# ON DISCONTINUITY OF L<sup>2</sup>-ANGLE

# PIOTR JAKÓBCZAK and TOMASZ MAZUR

(Received 14 March 1988)

Communicated by S. Yamamuro

#### Abstract

In this note the  $L^2$ -angle between two concentric rings and between the ring and the exterior of the disc in the complex plane are calculated. In the second part we prove that the  $L^2$ -angles between domains A and B and between  $A \times C$  and  $B \times C$  are equal. We give also some examples of discontinuity of the  $L^2$ -angle between domains.

1980 Mathematics subject classification (Amer. Math. Soc.) (1985 Revision): 30 C 40, 32 H 10, 46 C 10, 46 E 20.

#### Introduction

The alternating projections and  $L^2$ -angle in the theory of the Bergman function were introduced by M. Skwarczyński [4, 5]. The application of this procedure leads in some cases to the explicit-analytic calculations of  $L^2$ -angle between domains in  $\mathbb{C}^N$  (see [2, 5]).

Let A and B be two domains in  $\mathbb{C}^N$ , and put  $D = A \cup B$ . Set  $F = L^2 H(D) := \{f \in L^2(D) : f \text{ is holomorphic in } D\}$ . Denote by  $F_i$ , i = 1, 2, the subspaces of  $L^2(D)$  consisting of functions holomorphic in A and B respectively. Assume that  $m(A \setminus B) > 0$  and  $m(B \setminus A) > 0$  (here, as well as in the rest of the paper, m denotes the Lebesgue measure in  $\mathbb{C}^N$ ). The  $L^2$ -angle  $\gamma(A, B) \in [0, \frac{\pi}{2}]$  between A and B is given by (see [5, Section 1 (1)])

(1) 
$$\cos \gamma(A, B) = \sup \left\{ \frac{|\langle f_1, f_2 \rangle|}{\|f_1\| \|f_2\|} : f_i \in F_i \setminus \{0\}, \ f_i \perp F, \ i = 1, 2 \right\}.$$

© 1989 Australian Mathematical Society 0263-6115/89 \$A2.00 + 0.00

Under the additional assumption that  $L^2H(A) \neq 0$  or  $L^2H(B) \neq 0$ , one can prove (see [5]) that

(2) 
$$\cos^2 \gamma(A, B) = \sup \left\{ \frac{\|f\|_{A \setminus B}^2 + \|\hat{f}\|_B^2}{\|f\|_A^2 + \|f\|_{B \setminus A}^2} : f \in F_1 \setminus \{0\}, \ f \perp F, \right.$$

and f holomorphic in  $Int(B \setminus A)$ .

(Here  $\hat{f}$  is the Bergman projection of  $f|_B$  in B.)

In this note we calculate the  $L^2$ -angle between two concentric rings on the complex plane, and between the ring and the exterior of the disc. We prove also a result on the  $L^2$ -angle between cartesian products of domains. Moreover, we give examples of discontinuity of the  $L^2$ -angle.

#### 1. The case of rings

Let  $A = \{z \in \mathbb{C} : 0 < r_1 < |z| < r_2\}, B = \{z \in \mathbb{C} : R_1 < |z| < R_2\},\$ where  $r_1 < R_1 < r_2 < R_2$ . Let  $F_1 = \{f \in L^2(D) : f \in Hol(A)\}, F_2 = \{f \in L^2(D) : f \in Hol(B)\}.$ 

**THEOREM 1.** 

$$\cos^2 \gamma(A, B) = \frac{\ln(R_1/r_1)\ln(R_2/r_2)}{\ln(R_2/R_1)\ln(r_2/r_1)}$$

**PROOF.** Consider a function f such that  $f \in F_1 \setminus \{0\}$ ,

(3) 
$$\langle f, g \rangle = 0$$
 for every  $g \in L^2 H(D)$ 

and f is holomorphic in  $Int(B \setminus A)$ . This function on A and  $B \setminus A$  has power series expansions

$$f|_A(z) = \sum_{n \in \mathbb{Z}} a_n z^n, \qquad f|_{B \setminus A}(z) = \sum_{n \in \mathbb{Z}} b_n z^n.$$

Denote  $||z^n||_U^2 = U(n)$ . We calculate the expression in (2)

$$\|f\|_{A\setminus B}^{2} = \sum_{n\in\mathbb{Z}} |a_{n}|^{2} (A\setminus B)(n),$$
  
$$\|f\|_{A}^{2} = \sum_{n\in\mathbb{Z}} |a_{n}|^{2} A(n),$$
  
$$\|f\|_{B\setminus A}^{2} = \sum_{n\in\mathbb{Z}} |b_{n}|^{2} (B\setminus A)(n).$$

Denote by P the Bergman projection in D. Since f is orthogonal to  $L^2H(D)$ , we have Pf = 0. Therefore, for every  $n \in Z$ ,  $0 = \langle Pf, z^n \rangle = \langle f, z^n \rangle = a_n A(n) + b_n(B \setminus A)(n)$ , and so

(4) 
$$b_n = -a_n \frac{A(n)}{(B \setminus A)(n)}$$

Hence

$$\|f\|_{B\setminus A}^2 = \sum_{n\in\mathbb{Z}} |a_n|^2 \frac{A^2(n)}{(B\setminus A)(n)}.$$

Similarly, if  $\hat{f} = \sum_{n \in \mathbb{Z}} c_n z^n$  in B, then for every  $n \in \mathbb{Z}$ ,  $c_n B(n) = \langle \hat{f}, z^n \rangle_B = \langle f | B, z^n \rangle_B = a_n (A \cap B)(n) + b_n (B \setminus A)(n)$ , and so

$$\|\hat{f}\|_{B}^{2} = \sum_{n \in \mathbb{Z}} |c_{n}|^{2} B(n)$$
  
=  $\sum_{n \in \mathbb{Z}} \frac{|a_{n}(A \cap B)(n) + b_{n}(B \setminus A)(n)|^{2}}{B^{2}(n)} B(n)$   
=  $\sum_{n \in \mathbb{Z}} |a_{n}|^{2} \left| \frac{(A \cap B)(n) - A(n)}{B(n)} \right|^{2} B(n)$ 

by (4). Therefore the numerator and denominator in (2) are respectively

$$\|f\|_{A\setminus B}^{2} + \|\hat{f}\|_{B}^{2} = \sum_{n \in \mathbb{Z}} |a_{n}|^{2} \left\{ \left| \frac{(A \cap B)(n) - A(n)}{B(n)} \right|^{2} B(n) + (A \setminus B)(n) \right\}$$

and

$$\|f\|_{A}^{2}+\|f\|_{B\setminus A}^{2}=\sum_{n\in\mathbb{Z}}|a_{n}|^{2}\left\{A(n)+\left|\frac{A(n)}{(B\setminus A)(n)}\right|^{2}(B\setminus A)(n)\right\}$$

Note that  $((A \cap B)(n) - A(n))^2 = (A(n) - (A \cap B)(n))^2 = ((A \setminus B)(n))^2$ . Now we have

$$\frac{\|f\|_{A\setminus B}^2 + \|\hat{f}\|_B^2}{\|f\|_A^2 + \|f\|_{B\setminus A}^2} \leq \sup_{n\in\mathbb{Z}} \frac{\frac{(A\setminus B)^2(n)}{B(n)} + (A\setminus B)(n)}{A(n) + \frac{A^2(n)}{(B\setminus A)(n)}}$$
$$= \sup_{n\in\mathbb{Z}} \frac{(A\setminus B)(n)}{A(n)} \left[ \frac{1 + \frac{(A\setminus B)(n)}{B(n)}}{1 + \frac{A(n)}{(B\setminus A)(n)}} \right] = \sup_{n\in\mathbb{Z}} \frac{(A\setminus B)(n)}{A(n)} \frac{(B\setminus A)(n)}{B(n)}.$$

For  $n \neq -1$ ,

$$(A \setminus B)(n) = ||z^n||_{A \setminus B}^2 = \int_0^2 \int_{r_1}^{R_1} ss^{2n} \, ds \, d\varphi$$
$$= \frac{\pi}{n+1} ((R_1^2)^{n+1} - (r_1^2)^{n+1}).$$

Analogously,

$$A(n) = \frac{\pi}{n+1} ((r_2^2)^{n+1} - (r_1^2)^{n+1}),$$
  

$$(B \setminus A)(n) = \frac{\pi}{n+1} ((R_2^2)^{n+1} - (r_2^2)^{n+1}),$$
  

$$B(n) = \frac{\pi}{n+1} ((R_2^2)^{n+1} - (R_1^2)^{n+1}).$$

For n = -1,

$$(A \setminus B)(-1) = \|z^{-1}\|_{A \setminus B} = 2\pi \int_{r_1}^{R_1} \frac{1}{s} \, ds = 2\pi \ln \frac{R_1}{r_1},$$
  
$$A(-1) = 2\pi \ln \frac{r_2}{r_1}, \quad (B \setminus A)(-1) = 2\pi \ln \frac{R_2}{r_2}, \quad B(-1) = 2\pi \ln \frac{R_2}{R_1}$$

Setting  $a = r_1^2$ ,  $b = R_1^2$ ,  $c = r_2^2$ ,  $d = R_2^2$ , we obtain

(5) 
$$\cos^2 \gamma(A, B) \leq \sup\left(\frac{\ln(b/a)\ln(d/c)}{\ln(d/b)\ln(c/a)}, \frac{b^m - a^m}{d^m - b^m}, \frac{d^m - c^m}{c^m - a^m}\right),$$
  
$$m = n + 1 \neq 0.$$

On the other hand, if we define the functions  $f_n$  by setting  $f_n$  equal to  $z^n$ in A and to  $-A(n)/(B \setminus A)(n)z^n$  in  $B \setminus A$ , then  $f_n$  satisfy the conditions from (2), and it is easy to check that  $\sup_{n \in \mathbb{Z}} \{ (\|f\|_{A \setminus B}^2 + \|f\|_B^2)/(\|f_n\|_A^2 + \|f_n\|_{B \setminus A}^2) \}$ is equal to the right-hand side of (5). Therefore we have the equality in (5). It is easy to see that

$$\frac{b-a}{d-b}\frac{d-c}{c-a} \geq \frac{b^m-a^m}{d^m-b^m}\frac{d^m-c^m}{c^m-a^m}, \qquad m=1,2,\ldots$$

We want to show that

$$\frac{\ln(b/a)\ln(d/c)}{\ln(d/b)\ln(c/a)} > \frac{b-a}{d-b}\frac{d-c}{c-a} \quad \text{or} \quad \frac{\frac{\ln(b/a)}{b-a}}{\frac{\ln(d/b)}{d-b}}\frac{\frac{\ln(d/c)}{d-c}}{\frac{\ln(c/a)}{c-a}} > 1, \qquad a < b < c < d.$$

For b = c, the left-hand side is 1, so it suffices to show that the first factor on the left is increasing with respect to b on the interval (a, c). Without loss of generality we may assume that a = 1, and consider the expression

$$\frac{(\ln b)/(b-1)}{(\ln(d/b))/(d-b)}, \qquad 1 < b < d.$$

We shall show more: this expression is decreasing for  $b \in (1, d)$ . Substituting  $b = d^s$ ,  $s \in (0, 1)$ , it suffices to show that

$$\frac{(s\ln d)(d^s-1)}{((1-s)\ln d)/(d-d^s)}$$

is decreasing for  $s \in (0, 1)$ , or equivalently that

$$\frac{s}{1-s}\frac{d-d^s}{d^s-1}$$

is decreasing for  $s \in (0, 1)$ . Assuming 0 < s < t < 1, we want to show that

$$\frac{s}{1-s}\frac{d-d^{s}}{d^{s}-1} > \frac{t}{1-t}\frac{d-d^{t}}{d^{t}-1}$$

of (after dividing both sides by s) that

$$\frac{s}{1-s}\frac{1-d^{s-1}}{d^s-1} > \frac{t}{1-t}\frac{1-d^{t-1}}{d^t-1}.$$

Without loss of generality we may assume that s = k/n, t = m/n are rational, with *n* equal to some power of 2, and *k*, *m* even. Then 1 - s = (n/k)/n, 1 - t = (n - m)/n. Let  $p = d^{1/n} > 1$ . We shall prove that for k < m,

$$\frac{k/n}{(n-k)/n}\frac{1-p^{k-n}}{p^k-1} > \frac{m/n}{(n-m)/n}\frac{1-p^{m-n}}{p^m-1},$$

or equivalently that

$$\frac{k}{n-k}\frac{p^{n-k}-1}{p^k-1} > \frac{m}{n-m}p^{m-k}\frac{p^{n-m}-1}{p^{n-k}-1}$$

Note that by dividing by  $p^{(m-k)/2}$  we obtain the inequality

(6) 
$$\frac{k}{n-k}\frac{p^m-1}{p^k-1}\frac{1}{p^{(m-k)/2}} > \frac{m}{n-m}p^{(m-k)/2}\frac{p^{n-m}-1}{p^{n-k}-1}$$

It is known that

$$\frac{p^m-1}{p^k-1}\frac{1}{p^{(m-k)/2}} = \frac{p^{m-1}+p^{m-2}+\cdots+1}{p^{(m+k)/2-1}+\cdots+p^{(m-k)/2}}$$

is increasing for  $p \in (1, \infty)$  and that

$$p^{(m-k)/2}\frac{p^{n-m}-1}{p^{n-k}-1} = \frac{p^{n-\frac{m}{2}-\frac{k}{2}-1}+\cdots+p^{\frac{m}{2}-\frac{k}{2}}}{p^{n-k-1}+\cdots+1}$$

is decreasing for  $p \in (1, \infty)$  [5]. Hence it suffices to verify (6) for p = 1, in which case it reduces to

$$\frac{k}{n-k}\frac{m}{k}=\frac{m}{n-m}\frac{n-m}{n-k},$$

which is obvious.

# 2. The case of ring and exterior of a disc

Let

$$A_r = \{ z \in \mathbb{C} : r < |z| < 1 \}, \qquad B_R = \{ z \in \mathbb{C} : R < |z| \}, \qquad 0 < r < R < 1.$$

THEOREM 2.

$$\cos^2\gamma(A_r,B_R)=\frac{\ln(R/r)}{\ln(1/r)}.$$

**PROOF.** Now the considered function f (see equation (2)) has power series expansions

$$f|_{A_r}(z) = \sum_{n \in \mathbb{Z}} c_n z^n, \qquad f|_{B_R \setminus A_r}(z) = \sum_{n \leq -1} d_n z^n.$$

Similar calculations to those in part 1 (separately for n < -1, n = -1 and n > -1) lead to the following expression:

$$\cos^2 \gamma(A_r, B_R) = \sup\left(\frac{\ln(R/r)}{\ln(1/r)}, \frac{(R^2)^m - (r^2)^m}{1 - (r^2)^m}\right), \qquad m = 1, 2, \dots$$

Put  $\alpha = (R/r)^2$ ,  $\beta = (1/r)^2$ . Then  $1 < \alpha < \beta$  and

$$\cos^2 \gamma(A_r, B_R) = \max\left(\frac{\ln \alpha}{\ln \beta}, \frac{\alpha^m - 1}{\beta^m - 1}\right).$$

Since  $(\alpha - 1)/(\beta - 1) \ge (\alpha^m - 1)/(\beta^m - 1)$ ,  $m = 1, 2, \dots$ , we have  $\cos^2 \gamma(A_r, B_R) = \max\left(\frac{\ln \alpha}{\ln \beta}, \frac{\alpha - 1}{\beta - 1}\right)$ .

It is easy to see that the first number on the right-hand side realizes the maximum, which completes the proof.

Denote by  $C_r$  the disc with radius r and by  $D_R$  the ring with radii 1 and R, 1 < r < R. Since the mapping  $z \rightarrow 1/z$  transforms  $C_r \setminus \{0\}$  and  $D_R$  biholomorphically onto  $B_{1/r}$  and  $A_{1/R}$  (where  $B_{1/r}$  and  $A_{1/R}$  have the same meaning as in Theorem 2), and since  $L^2H(C_r \setminus \{0\}) = L^2H(C_r)$  (more general results of this type were obtained by J. Siciak in [3]), we have by Theorem 2 and by [2, Theorem 3], that

$$\cos^2\gamma(C_r, D_R) = \cos^2\gamma(A_{1/R}, B_{1/r}) = \frac{\ln(R/r)}{\ln R}.$$

If  $R \to \infty$ , this expression tends to 1. On the other hand, if  $D = \lim_{R \to \infty} D_R$ =  $\bigcup_{R>1} D_R = \{z \in \mathbb{C} : |z| > 1\}$ , then by [2, page 658] and by [5, Theorem 3],  $\cos \gamma(C_r, D) = 1/r$ . Therefore, the following holds:

THEOREM 3 (Discontinuity of the  $L^2$ -angle).

$$\lim_{R\to\infty}\cos\gamma(C_r,D_R)\neq\cos\gamma\left(C_r,\lim_{R\to\infty}D_R\right).$$

Note that in contrast to the above result, if we consider the domains  $A_r = \{z \in \mathbb{C} : r < |z| < 1\}$  and  $B_R = \{Z \in \mathbb{C} : R < |z| < \rho\}, 0 < r < R < 1 < \rho$ ,

and let  $\rho$  tend to infinity, then by Theorem 1,

$$\cos^2 \gamma(A_r, B_{R\rho}) = \frac{\ln(R/r) \ln \rho}{\ln(\rho/R) \ln(1/r)} \rightarrow \frac{\ln(R/r)}{\ln(1/r)}$$

which is equal, by Theorem 2, to  $\cos^2 \gamma(A_r, B_R)$ . Hence in this case the "continuity" of the  $L^2$ -angle holds.

### 3. Higher dimension case

In this section we prove a result on the  $L^2$ -angle between cartesian products of domains. We give then some examples of "discontinuity" in a higher dimension case. In order to make the presentation more concise, we use the following notations: given domains  $A, B, C, \ldots$  in  $\mathbb{C}^n$  and G in  $\mathbb{C}^m$ , we will write  $A_G, B_G, C_G, \ldots$  instead of  $A \times G, B \times G, C \times G, \ldots$ 

THEOREM 4. Let A and B be two domains in  $\mathbb{C}^n$  such that  $m(A \setminus B) > 0$ and  $m(B \setminus A) > 0$  and

(7) 
$$m((B \setminus A) \setminus \operatorname{Int}(B \setminus A)) = 0,$$

(where *m* denotes the Lebesgue measure in  $\mathbb{C}^n$ ), and let *G* be a domain in  $\mathbb{C}^m$  such that  $L^2H(G) \neq 0$ . Then the  $L^2$ -angle between  $A_G$  and  $B_G$  is defined and satisfies the equality

$$\cos \gamma(A_G, B_G) = \cos \gamma(A, B).$$

We need the following lemma:

**LEMMA 5.** Suppose that domains  $A, B \subset \mathbb{C}^n$  are such that

$$m((B \setminus A) \setminus \operatorname{Int}(B \setminus A)) = 0,$$

and let G be a domain in  $\mathbb{C}^m$ . Set  $D = A \cup B$ . Let  $h \in L^2(D_G)$  be such that h is holomorphic in  $A_G$  and in  $Int(B_G \setminus A_G)$ , and h is orthogonal to  $L^2H(D_G)$ . Then for every  $w \in G$ , the function  $h(\cdot, w)$  belongs to  $L^2(D)$ , is holomorphic in A and in  $Int(B \setminus A)$ , and is orthogonal to  $L^2H(D)$ .

**PROOF.** Since h is square-integrable and holomorphic in  $A_G$  and  $Int(B_G \setminus A_G)$ , it is well known that for each  $w \in G$ , the function  $h(\cdot, w)$  is holomorphic and square-integrable in A and  $Int(B \setminus A)$ . Since

$$m((B \setminus A) \setminus \operatorname{Int}(B \setminus A)) = 0$$

by assumption, we have also  $h(\cdot, w) \in L^2(D)$ . In order to prove that  $h(\cdot, w)$  is orthogonal to  $L^2H(D)$  take arbitrary functions f and g from  $L^2H(D)$  and

 $L^2H(G)$  respectively. Define the function  $h_f$  on G by  $h_f(w) = \langle h(\cdot, w), f \rangle_D$ ,  $w \in G$ . (This definition makes sense, because  $h(\cdot, w) \in L^2(D)$ ). Since, by the Schwarz inequality,

$$\int_{G} |h_{f}(w)|^{2} dm(w) \leq \int_{G} \left( \int_{D} |h(z,w)| \left| \overline{f(z)} \right| dm(z) \right)^{2} dm(w)$$
$$\leq \int_{G} \left( \int_{D} |h(z,w)|^{2} dm(z) \int_{D} |f(z)|^{2} dm(z) \right) dm(w) = \|f\|_{D}^{2} \|h\|_{D_{G}}^{2}$$

the function  $h_f$  is in  $L^2(G)$ . Let  $\{D_n\}_{n=1}^{\infty}$  be an increasing sequence of compact subsets of D such that  $\bigcup_{n=1}^{\infty} D_n = D$ . It is then well known that the functions  $(h_f)_n(w) = \langle h(\cdot, w), f \rangle_{D_n} = \int_{D_n} h(z, w) \overline{f(z)} dm(z)$  are holomorphic in G, and by an estimate similar to that in (8) we see that they are also in  $L^2(G)$ . Moreover, by the same manner as in (8), we obtain the inequality  $\|h_f - (h_f)_n\|^2 \le \|f\|_{D_n}^2 \|h\|_{(D \setminus D_n)_G}^2$ . Since the last expression tends to zero as  $n \to \infty$ , and since  $(h_f)_n$  are in  $L^2H(G)$ , which is a closed subspace of  $L^2(G)$ ,  $h_f$  belongs to  $L^2H(G)$ . The function f(z)g(w) is in  $L^2H(D_G)$ . Therefore, by the assumption on h,

$$0 = \langle h, f(z)g(w) \rangle = \int_G \left( \int_D h(z, w) \overline{f(z)} \, dm(z) \right) \overline{g(w)} \, dm(w) = \langle h_f, g \rangle_G.$$

This means that  $h_f$  is orthogonal to  $L^2H(G)$ , and thus since  $h_f$  is itself in  $L^2H(G)$ ,  $h_f = 0$ . Hence, for every  $w \in G$ ,  $h_f(w) = \langle h(\cdot, w), f \rangle_D = 0$ . Since  $f \in L^2H(D)$  was taken arbitrary, we conclude that  $h(\cdot, w)$  is orthogonal to  $L^2H(D)$ .

PROOF OF THEOREM 4. We show first that  $\cos \gamma(A, B) \leq \cos \gamma(A_G, B_G)$ . As in the introduction, let  $F_1$  (respectively  $F_2$ ) denote the subspace of  $L^2(D)$ , consisting of functions which are holomorphic in A (respectively in B). Similarly, let  $G_1$  and  $G_2$  be the subspaces of those functions from  $L^2(D_G)$ , which are holomorphic respectively in  $A_G$  and in  $B_G$ . Take any  $f_i \in F_i \setminus \{0\}$  with  $f_i \perp L^2 H(D)$ , i = 1, 2. Let g be an arbitrary function from  $L^2 H(G) \setminus \{0\}$ . Then the functions  $f_1(z)g(w)$  and  $f_2(z)g(w)$  are in  $G_1 \setminus \{0\}$  and  $G_2 \setminus \{0\}$  respectively. Moreover, since every function from  $L^2 H(D_G)$  can be approximated in the  $L^2$ -norm by functions of the form  $h_1(z)g_1(w) + \cdots + h_n(z)g_n(w)$ with  $h_i \in L^2 H(D)$  and  $g_1 \in L^2 H(G)$ , we conclude from the orthogonality conditions on  $f_i$  that  $f_i(z)g(w) \perp L^2 H(D_G)$ , i = 1, 2. Hence,

(9) 
$$\cos \gamma(A_G, B_G) = \frac{|\langle f_1(z)g(w), f_2(z)g(w) \rangle_{D_G}|}{\|f_1(z)g(w)\|_{D_G} \|f_2(z)g(w)\|_{D_G}} \\ = \frac{|\langle f_1, f_2 \rangle_D ||g||_G^2}{\|f_1\|_D \|f_2\|_D \|g|_G^2} = \frac{|\langle f_1, f_2 \rangle_D|}{\|f_1\|_D \|f_2\|_D}.$$

Since  $\cos \gamma(A, B)$  is the supremum over all expressions occuring in the righthand side of (9) with  $f_1$  and  $f_2$  as described above, we are done.

In order to prove the opposite inequality, suppose first that  $L^2H(A)$  is nontrivial. (The case when  $L^2H(B) \neq 0$  is treated analogously.) Then (see [5, Theorem 2]) the formula

(10) 
$$\cos^{2} \gamma(A_{G}, B_{G}) = \sup \left\{ \frac{\|h\|_{(A \setminus B)_{G}}^{2} + \|P_{B_{G}}h\|_{B_{G}}^{2}}{\|h\|_{D_{G}}^{2}} :$$
  
 $h \in G_{1} \setminus \{0\}, h \perp L^{2}H(D_{G}),$   
 $h \text{ is holomorphic in Int}(B_{G} \setminus A_{G}) \right\}$ 

holds (here  $P_{B_G}$  denotes the Bergman projection in  $B_G$ ). By virtue of Lemma 5, for every  $w \in G$ , the function  $f(\cdot, w)$  belongs to  $F_1$ , is holomorphic in  $Int(B \setminus A)$ , and is orthogonal to  $L^2H(D)$ . Therefore, again by [5, Theorem 2], for every  $w \in G$  we have the inequality

(11) 
$$\frac{\|h(\cdot,w)\|_{A\setminus B}^2 + \|P_Bh(\cdot,w)\|_B^2}{\|h(\cdot,w)\|_D^2} \le \cos^2 \gamma(A,B),$$

(with  $P_B$  the Bergman projection in B). Let  $K_B$ ,  $K_G$  and  $K_{B_G}$  denote the Bergman functions for domains B, G and  $B_G$  respectively, and set  $S = (B \setminus A) \setminus \text{Int}(B \setminus A)$ . By Bremermann's theorem,

$$K_{B_G}(s,t;z,w) = K_B(s,z)K_G(t,w).$$

Moreover  $h(s, \cdot) \in L^2H(G)$  for every  $s \in B \setminus S$ , and m(S) = 0. Therefore, we have

$$P_{B_G}h(z,w)7 = \int_{B_G} \overline{K_{B_G}(s,t;z,w)}h(s,t)\,dm(s)\,dm(t)$$
  
=  $\int_{B\setminus S} \overline{K_B(s,z)} \left( \int_G \overline{K_G(t,w)}h(s,t)\,dm(t) \right)\,dm(s)$   
=  $\int_{B\setminus S} \overline{K_B(s,z)}h(s,w)\,dm(s) = (P_Bh(\cdot,w))(z),$ 

 $z \in B, w \in G$ . Thus

$$\frac{\|h\|_{(A\setminus B)_G}^2 + \|P_{B_G}h\|_{B_G}^2}{\|h\|_{D_G}^2} = \frac{\int_G (\|h(\cdot,w)\|_{A\setminus B}^2 + \|P_Bh(\cdot,w)\|_B^2) \, dm(w)}{\int_G \|h(\cdot,w)\|_D^2 \, dm(w)}.$$

Because of (11), this last expression does not exceed  $\cos^2 \gamma(A, B)$ . Taking the supremum of those expressions over all h as above, we obtain by (10), that  $\cos^2 \gamma(A_G, B_G) \le \cos^2 \gamma(A, B)$ . At least, if  $L^2H(A) = L^2H(B) = \{0\}$ , then also  $L^2H(A_G) = L^2H(B_G) = \{0\}$ , and thus, by [5, Theorem 1],  $\cos \gamma(A, B) = \cos \gamma(A_G, B_G) = 0$ . This completes the proof.

We give now some further examples of "discontinuity" of the  $L^2$ -angle. Let  $C_r$  and  $D_R$  have the same meaning as in Theorem 3. Let G be any domain of holomorphy in some  $\mathbb{C}^m$  with  $L^2H(G) \neq \{0\}$ . Then, by (the proof of) Theorem 3, and by Theorem 4, we have  $\lim_{R\to\infty} \cos\gamma((C_r)_G, (D_R)_G) = 1$ , and similarly, if  $D = \lim_{R\to\infty} D_R = \{z \in \mathbb{C} : |z| > 1\}$ , then  $\cos\gamma((C_r)_G, D_G) = 1/r$ . Thus the above example exhibits the discontinuity of the  $L^2$ -angle, as in Theorem 3. Note that  $(C_r)_G, (D_R)_G$  and  $D_G$  are domains of holomorphy.

Another example of discontinuity of  $L^2$ -angle is the following. Let  $\Pi_+ = \{(z, w) \in \mathbb{C}^2 : \text{Re } z > 1\}, \Pi_- = \{(z, w) \in \mathbb{C}^2 : \text{Re } z < -1\}$ . Set also

$$A = \Pi_{-} \cup \{\operatorname{Re} z < 1, (\operatorname{Im} z)^{2} + |w|^{2} < 1\},\$$
  

$$A_{0} = \{-2 < \operatorname{Re} z < 1, (\operatorname{Im} z)^{2} + |w|^{2} < 1\},\$$
  

$$B = \Pi_{+} \cup \{-1 < \operatorname{Re} z, (\operatorname{Im}^{2} + |w|^{2} < 1\}.\$$

Since  $L^2H(C) = \{0\}$ , then also  $L^2H(\Pi_+) = L^2H(\Pi_-) = \{0\}$ , and so  $L^2H(A) = L^2H(B) = \{0\}$ . Also  $L^2H(A \cup B) = \{0\}$ ,  $F_1$  is orthogonal to  $F_2$ , and so  $\cos \gamma(A, B) = 0$  by (1). On the other hand, consider the sequence  $\{A_n\}_{n=0}^{\infty}$  of bounded domain in  $\mathbb{C}^2$ , such that  $A_0 \subset A_1 \subset \ldots, \bigcup_{n=0}^{\infty} A_n = A$ , and  $A_n \cap B = A_0 \cap B$  for every  $n = 0, 1, 2, \ldots$  Set  $F^{(i)} = L^2H(A_i \cup B) = \{0\}$ ,  $F_1^{(i)} = \{f \in L^2(A_i \cup B): f$  is holomorphic in  $A_i\}$ , and  $F_2^{(i)} = \{f \in L^2(A_i \cup B): f$  is holomorphic in  $A_i\}$ , and  $F_2^{(i)} = \{f \in L^2(A_i \cup B): f$  is holomorphic in  $B\}$ . Let  $f_i$  be a function which is equal to one in  $A_i$  and to zero in  $\Pi_+$  and let  $g_i$  be equal to one in  $A_i \setminus B$  and to zero in B. Since the domains  $A_i$  are bounded, the supports of the functions  $f_i$  and  $g_i$  have finite measure, and so we have  $f_i \in F_1^{(i)} \setminus \{0\}$  and  $g_i \in F_2^{(i)} \setminus \{0\}$ . Then

$$\cos \gamma(A_i, B) \geq \frac{|\langle f_i, g_i \rangle|}{\|f_i\| \|g_i\|} = \frac{m(A_i \setminus B)}{\sqrt{m(A_i)m(A_i \setminus B)}}$$

where *m* denotes the Lebesgue measure in  $\mathbb{C}^2$ . This last expression tends to one as *i* tends to infinity.

Note that in contrast to the previous example, the cosine of the  $L^2$ -angle between limit domains in the present situation is equal to zero. In the last example the considered domains are not domains of holomorphy.

REMARK. Note that in all the aforementioned examples of the discontinuity of the  $L^2$ -angle, the space  $L^2H(A \cup B)$  is trivial. It would be interesting to find some sufficient conditions, under which the continuity of the  $L^2$ -angle holds; for example it is not known to us whether the condition  $L^2H(A \cup B) \neq \{0\}$  would be sufficient.

### Acknowledgement

We thank Professor J. Siciak for suggesting the theme of this investigation and Professor M. Skwarczyński for numerous valuable discussions and advice and support during preparation of the present version of the paper.

# References

- [1] S. Bergman, *The kernel function and conformal mapping*, (Math. Surveys 5, Amer. Math. Soc., 2nd ed., 1970).
- [2] I. P. Ramadanov and M. Skwarczyński, 'An angle in L<sup>2</sup>(C) determined by two plane domains', Bull. Polish Acad. Sci. Math. 32 (1984), 653-659.
- [3] J. Siciak, 'On removable singularities of  $L^2$  holomorphic functions of several complex variables', *Prace Matematyczno Fizyczne*, Radom, 1982, 73-82.
- [4] M. Skwarczyński, 'Alternating projections in complex analysis', Proc. Second Internat. Conf. on Complex Analysis and Applications, Varna (1983).
- [5] M. Skwarczyński, 'L<sup>2</sup>-angle between one-dimensional tubes', Studia Math. 90 (1988), 213–233.

Instytut Matematyki Uniwersytet Jagielloński ul. Reymonta 4 30-059 Kraków Poland Zakład Matematyki WSI Radom ul. Malczewskiego 29 26-600 Radom Poland

279